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(ADF = /DFC(%17})

CD = CF = 6(cm)

m2tA BF = 8 — 6 = 2(cm)
AB = BE |22 BE = 6cm
..EF = 6 — 2 = 4(cm)
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AB = CD = 6(cm)

/ABE = /BEC o|2&
BC=CE =6+2 = 8(cm)
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AB = 18cm, BC = 21lecm & o, EF 9] 2
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AF = AB = 18 (cm)

CD = DE = 18 (cm)

AF +ED - EF = 21 (cm) o|22
EF = 18 + 18 - 21 = 15 (cm)
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(ADF = /DFC(%17})

CD = CF = 12cm

w2k BF = 15 - 12 = 3(cm)

AB = BE °|2& BE = 12(cm)

.EF =12 -3 =9(cm)
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th2 1| BD:CD=2:1,AE:CE = A
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AAPE = AABE — AAPB 9|t}
AABE=30><§ =12
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AABD:30X§ :20,AAPB=AABDX§ =10

kA AAPE = AABE - AAPB = 12 - 10 = 2(cm?)




